
Spell the following words 
1) light
2) fire
3) hair
4) boil
5) zoom
6) start
7) Add the Suffix 
-est to this word to 
make a new one.

Short

8) Add the prefix 
un- to make ta 
new word.

lock

9) What is 
3 x 5 = 

10) What is 
8 x 2 = 

11) What is 
9 x 10 = 
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12) Write a 
sentence using 
the word 
tomorrow.
13) Name the 
materials that are 
being used to 
make this 
drawbridge. 

14) Write a 
sentence to tell 
me why it is 
important to 
debug an 
algorithm.
15) Name 3 parts 
of a castle.



1) - 6) - spellings
7) Add the Suffix 
-est to this word to 
make a new one.

Shortest

8) Add the prefix 
un- to make ta 
new word.

Unlock

9) What is 
3 x 5 = 

3 x 5 = 15

10) what is 
8 x 2 = 

8 x 2 = 16

11) what is 
9 x 10 = 

9 x 10 = 90

12) Write a 
sentence using 
the word 
tomorrow.

This will vary between household. 
Example: I am going shopping tomorrow.

13) Name the 
materials that are 
being used to 
make this 
drawbridge. 




The material being used in the drawbridge are wood and 
metal.
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14) Write a 
sentence to tell 
me why it is 
important to 
debug an 
algorithm.

It is important to debug an algorithm so that it 
stops any errors occurring. 

15) Name 3 parts 
of a castle.

You can have any of the following:

Moat, Drawbridge, Bailey, Battlements, Barbican, portcullis, 
tower, turrets, keep.


